Inequalities		
1	$\frac{x+4}{2} < 1$ (*)	
	$3+2x-x^2$	
	$\frac{x+4}{$	
	$3+2x-x^2$	
	$\frac{x+4}{x+4} - \frac{3+2x-x^2}{x} < 0$	
	$3+2x-x^2$ $3+2x-x^2$	
	$\frac{x^2 - x + 1}{x^2 - x + 1} < 0$	
	$3+2x-x^2$	
	$\frac{x^2 - x + 1}{2} > 0$	
	$x^2 - 2x - 3^{-5}$	
	Since $x^2 - x + 1 = \left(x - \frac{1}{2}\right)^2 + \frac{3}{4} > 0$ for any real x	
	(OR coefficient of $x^2 = 1 > 0$ and discriminant, $b^2 - 4ac = (-1)^2 - 4(1)(1) = -3 < 0$ imply	
	that $x^2 - x + 1 > 0$ for any real x)	
	$\frac{1}{2} > 0$	
	$x^2 - 2x - 3$	
	$\frac{1}{2} > 0$	
	$(x+1)(x-3)^{-1}$	
	$\xrightarrow{+ \qquad - \qquad + \qquad } x \xrightarrow{-1 \qquad 3} x$	
	$\therefore x < -1 \text{ or } x > 3$	
	By replacing x with $(-x^2)$ in (*), we have:	
	$\frac{-x^2+4}{3-2x^2-x^4} < 1$	
	$\frac{x^2 - 4}{x^4 + 2x^2 - 3} < 1$ which is what we need to solve.	
	From earlier part, $-x^2 < -1$ or $-x^2 > 3$ (N.A., since $-x^2 \le 0$	
	$x^2 > 1$ for all real x)	
	x < -1 or $x > 1$	

2i	$4x^{2} + 4x + 3 = (2x+1)^{2} + 2 > 0 \forall x \in \mathbb{R}$
	Alternative Method
	Discriminant = $4^2 - 4(4)(3) = -32$
	Since coefficient of x^2 is positive and discriminant $< 0, 4x^2 + 4x + 3$ is positive
ii	$\frac{4x^3 + 4x^2 + 3x}{4x^2 + 3x} < 0$
	$x^2 + x - 2$
	$\frac{x(4x^2+4x+3)}{(4x^2+4x+3)} < 0$
	$\frac{(x+2)(x-1)}{(x-1)} < 0$
	$\frac{x}{(x+2)(x-1)} < 0 \text{since} (2x+1)^2 + 2 > 0 \forall x \in \mathbb{R}$
	-2 0 1
	Therefore $x < -2$ or $0 < x < 1$
iii	Let $y = \ln x $
	$4y^3 + 4y^2 + 3y$
	$\frac{1}{y^2 + y - 2} \ge 0$
	$-2 \le y \le 0 \text{ or } y > 1$
	$-2 \le \ln x \le 0 \text{ or } \ln x > 1$
	$x = 1$ or $\ln x < -1$ or $\ln x > 1$
	$x = 1 \text{ or } 0 < x < e^{-1} \text{ or } x > e$
3	$\frac{2w-5}{w^2-2} > 0$
	W = 3
	$-\sqrt{3}$ $\sqrt{3}$ $\frac{5}{2}$ $\sqrt{3}$ $\sqrt{3}$ $\frac{5}{2}$
	$-\sqrt{3} < w < \sqrt{3}$ or $w > \frac{3}{2}$
	$(2 y -5)\sin x$
	$\frac{y^2-3}{y^2-3} \leq 0,$
	Since $\sin x < 0$ for $\pi < x \le \frac{3\pi}{2}$, $\frac{2 y -5}{y^2-3} \ge 0$
	From above, $-\sqrt{3} < y < \sqrt{3}$ or $ y \ge \frac{5}{2}$
	$0 \le y < \sqrt{3} \text{or} y \ge \frac{5}{2}$

River Valley High School, Mathematics Department



Let
$$y = 2e^x$$
, $2 < 2e^x < \frac{11}{2} \Rightarrow 0 < x < \ln \frac{11}{4}$

River Valley High School, Mathematics Department

$$\begin{array}{cccc}
6 & \ln\left(2x - \frac{a}{x}\right) \geq 0 & \text{where } a > 1. \\
& 2x - \frac{a}{x} \geq 1 \\
& \frac{2x^2 - x - a}{x} \geq 0 \\
& \frac{2\left(x - \frac{1 + \sqrt{1 + 8a}}{4}\right)\left(x - \frac{1 - \sqrt{1 + 8a}}{4}\right)}{x} \geq 0 \\
& \frac{1 - \sqrt{1 + 8a}}{4} \leq x < 0 & \text{or } x \geq \frac{1 + \sqrt{1 + 8a}}{4}
\end{array}$$



8
$$\frac{(x+a)(x-b)}{(x)(x-c)^2} < 0, \quad x \neq c, x \neq 0$$

Since $(x-c)^2 > 0$ as $x \neq c$,
 $\frac{(x+a)(x-b)}{x} < 0$
 $x(x+a)(x-b) < 0$
 $x < -a$ or $0 < x < b$ and $x \neq c$
Replace x by ln x.
 $\ln x < -a$ or $0 < \ln x < b$ and $\ln x \neq c$
 $0 < x < e^{-a}$ or $1 < x < e^{b}$ and $x \neq e^{c}$

9

$$\frac{x^2 - x + 2}{x^2 + (1 - a)x - a} \leq 0$$

$$\frac{(x - \frac{1}{2})^2 + \frac{7}{4}}{(x - a)(x + 1)} \leq 0$$
Since numerator is always positive,

$$\frac{1}{(x - a)(x + 1)} \leq 0 \Rightarrow (x - a)(x + 1) < 0 \Rightarrow -1 < x < a$$

$$1 - e^{2x} + e^{-x} - e^{x} \le 0$$

$$1 + \frac{1}{e^{x}} \le e^{x} (1 + e^{x})$$
Replace x by e^{x} ,
$$e^{x} \ge 1 \text{ or } e^{x} < 0 \text{ (reject)}$$

$$x \ge 0$$



River Valley High School, Mathematics Department

13	$\frac{x+3}{1} \ge \frac{x}{2} + 1$
	$\begin{array}{ccc} 1-x & 2x+1 \\ x & x+3 \end{array}$
	$\Rightarrow \frac{1}{2x+1} - \frac{1}{1-x} \le 0$
	$\Rightarrow \frac{x}{2} + \frac{x+3}{2} \le 0$
	$2x+1 x-1 \\ x(x-1) + (x+3)(2x+1)$
	$\Rightarrow \frac{n(x-1) + (x+2)(2x+1)}{(2x+1)(x-1)} \le 0$
	$\Rightarrow \frac{(x+1)^2}{2} \leq 0$
	(2x+1)(x-1)
	$\therefore -\frac{1}{2} < x < 1, x = -1$
	Replace x by $- x $
	$\Rightarrow -\frac{1}{2} < - x < 1, - x = -1$
	$\Rightarrow -1 < x < \frac{1}{2}, x = 1$
	$\Rightarrow -\frac{1}{2} < x < \frac{1}{2}, x = \pm 1$
14	
	▲ y
	$y = \ln(x^2 - 4)$
	y = m(x - 4)
	$y = 8 - x^2$
	$x = -2 \qquad x = 2$
	$\ln(x^2 - 4) + x^2 - 8 \le 0$
	$\ln(x^2 - 4) \le 8 - x^2$
	The suitable additional curve is $y = 8 - x^2$.

Intersection points between the 2 graphs:



